LANSPUQH

Installation Instructions

Lankota Single Point Mount

For most 3-Point Quick Hitches

LANKO

270 West Park Avenue
Huron, SD 57350
866-526-5682

CEECH I 11/13/2018 www.lankota.com | Lankota Inc. Lankota is a registered trademark of Lankota Group.



Numerical Parts List

Part Numbers Description Qty
LANSPUQH50 Quick Hitch Single Point Mount Plate 1
LANSPUQHG60 Quick Hitch Single Point Clamp Plate 1
LANSP002 Single Point 6-Port Block Spacer 2
LANSPUQHBH Single Point Block Mounting Hardware 1
LANFJ9F2 M8 x 45mm Flanged Hex Bolt 4
LANFEO1V M8 x 30mm Socket Head Screw 4
LANFQ65N M8 Flanged Nyloc 4
LANF2CRC 3/8” x 8” Carriage Bolt 4
LAN18000 3/8” Flat Washer 4
REDWL53 3/8” Lock Washer 4
REDNAF3 3/8” Hex Nut 4

CEECH VA 11/13/2018 www.lankota.com | Lankota Inc. Lankota is a registered trademark of Lankota Group.



Pictorial Parts List

LANSP002 (2)

LANFEO1V (4)

LANFQ65N (4)

LANFJ9F2 (4)

LANSPUQH60 (1)

" LANF2CRC (4)

LAN18000 (4)

REDWL53 (4)

REDNAF3 (4)

1/13/2018

www.lankota.com | Lankota Inc.

Lankota is a registered trademark of Lankota Group.




Kit Installation

K

.

Refer to Figures 1 & 2

1. Attach the hydraulic block to the mount plate (LANSPUQH50) as shown.

Follow the additional instructions provided to install the block(s) and route
hoses/fittings correctly.

2. Clamp the mount plate to the quick hitch with the clamp plate
(LANSPUQH®60). Run the 8” carriage bolts through the plate over and
under the quick hitch and through the mount plate. Tighten with the
3/8” flat washers, lock washers and hex nuts.

3. Once they are tight, use a cutting wheel or hack saw to remove excess
carriage bolt length.

J

[ Figure 2 l

11/13/2018 www.lankota.com | Lankota Inc.

Lankota is a registered trademark of Lankota Group.



For further technical assistance,
Call Lankota Inc. at:

1-866-526-5682
\. >

CEECH I 11/13/2018 www.lankota.com | Lankota Inc. Lankota is a registered trademark of Lankota Group.



